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QUESTION 1

Which Splunk internal index contains license-related events?

A. audit
B. license
C. _internal

D. _introspection
Correct Answer: C

Reference: https://answers.splunk.com/answers/579494/how-to-display-license-consumed-by-an-indexover-2.html

QUESTION 2

In a distributed environment, knowledge object bundles are replicated from the search head to which location on the
search peer(s)?

A. SPLUNK_HOME /var/lib/searchpeers

B. SPLUNK_HOME/var/log/searchpeers
C. SPLUNK_HOME/var/run/searchpeers
D. SPLUNK_HOME/var/spool/searchpeers
Correct Answer: C

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/DistSearch/Whatsearchheadssend

QUESTION 3

A multi-site indexer cluster can be configured using which of the following? (Select all that apply.)
A. Via Splunk Web.

B. Directly edit SPLUNK_HOME/etc/system/local/server.conf

C. Run a splunk edit cluster-config command from the CLI.

D. Directly edit SPLUNK_HOME/etc/system/default/server.conf

Correct Answer: AB

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/Indexer/Enableclustersindetail
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QUESTION 4

What is the logical first step when starting a deployment plan?

A. Inventory the currently deployed logging infrastructure.

B. Determine what apps and use cases will be implemented.

C. Gather statistics on the expected adoption of Splunk for sizing.

D. Collect the initial requirements for the deployment from all stakeholders.

Correct Answer: D

QUESTION 5

When using the props.conf LINE_BREAKER attribute to delimit multi-line events, the SHOULD_LINEMERGE attribute
should be set to what?

A. Auto

B. None

C. True

D. False

Correct Answer: C

Reference: https://answers.splunk.com/answers/6926/how-to-keep-data-together-as-one-event.html
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